Given mZ4BF = K", ms CBE — N°, ms DBF = mzs EBE
Prove mZA4ABD = m - CRE

STATEMENTS ]
1. mZABF =90, msCRF — o0~
moDBF = m/sERBF

: Il r (:ii ‘I‘lun

2. mAABF = ms/CBE I 2. ngm srkive PFOP& 4‘7

3. MLABF = mAABD + msDBF 3. |
ncormocarimoen | Avgle Addbon foshulule

; V] ‘l'i ‘l'VLLcm Og
4_MLABD+MLDBF = mLCBE+mLERE | 4. R, BPErts Q

5. mLABD + mLEBF = m/CBE +m/ERF |8, Svbhbbia Proprly o Fguhhy
6. msABD = msCBE 6. Subtraction Property of Lquality

Word Bank: Given  Subtraction Property of Equality Reflexive Property of Equality Transitive POE
Symmetric POE Definition of complementary Angles Angle Addition Postulate Substitution POE
Linear Pair Postulate m<ABD + m<DBF = m<CBE + m<EBF m<ABF = m<CBE + m<EBF

m<CBF = m<ABD + m<DBF m<ABF = m<ABF Additon POE Angle Addition Postulate

Substitution POE Multiplication POE 1



Given FL£H =28 EF =2y

,FGr=x+5,GH =x

Prove x=06
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STATEMENTS R

1, EH =28 EF =% 1, F(’-H—':
GH=x

2. EH = EG+GH
EG = EF+FG

 EH=EF+ FG+ Gl]
B =(2v =1+ {v+ 5+ x

2% = Ix+Y

e W

6. 147 Hx
7. b=x
8. r=68

Word Bank:  Addition Property of Equality

Substitution POE Transitive POE
24 = 4x 28=4x +4
24 = 3x 12 = 2x

§€7¢fw@# Add o,
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1. bé"{’l\[ﬂ/‘hdvg ﬂp{-’?,L] %//

4. Substitution Property nffqua iy 7
5. Simplify.

6. Subtraction Propernty of Equality

7. Division Property of Equality

8. Symmetric Property of Equality
Segment Addition Postulate

Simplify
24=4x+6

Angle Addition Postulate
28=3x+4
18 = 4x



Given JI'=0G, OF =1'G
Prove OF =JQ
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Statements Reasons
1.JV = 0G. OF = VG Giv en
3 JF=J0+ QI Sé’(jwum% A’J‘!'{"Dh Paéﬁu [I(/-C
OG = OF = VG
3! tfgj +Q{r= QE{"F _.!-}_-G 5ub§‘{'l‘!"‘l’*”"‘ F{UF,(/LI J‘F

g7va/fL7
4. ._J.rQ = I'(; gu Lt cacdwaq {)fa[Z(/LZ of Efva/l%

5. VG =J0 Gymmebric ’ﬂ”’ﬂf”@ ot Eqd

7
6. OF = JQ Subshhhen fropily of Equf 17

Word Bank:

a.  Transitive Property of Equality ¢.  Segment Addition Postulate

b.  Substitution Property of Equality f. Subtraction Property of Equality
€. Reflexive Property of Equality L. Given

d.  Symmetric Property of Equality h. Addition Property of Equality



Given AR =1
Prove AC =RED
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STATEMENTS REASONS
2. BC = N ] .

BC = B( Z Eg“%\\/{ f[op{fl_,]

3. AB+BC=CD+BC 3, Addition Property of Equality

4. A (=Ap+B C 4. Sepment Addition Postulate

S5.CD+BC=8D > Sggment Addition Postulate

ﬁ-b -S v:“l 1 gL . i -‘-;‘ a“ !
ki = Ay 6. Substitution Property of Equality

Word Bank: Transitive Property Reflexive Property Given AC =AB +BC
AC=AB+CD BD = AB + BC AB =CD AC =BD




Given  AD =63, BC-41. AB=CD
Prove CD=11
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STATEMENTS
I. AD =63, BC =41 4B -

REASONS

|

oo Gen
2. AD = AC+ (D 2. Segment Addition Postulate
AC=A8~BC

3. Substitution Property of Equality
3 =D+ + 0D 4. Substitution Property of Lquality
- e, X I ! . .

i LI -

6. Ad~ACD 6. Subtraction Property of Fquality

= ll1=0D 7. Dvision Property of Equality
Word Bank: Given AC +CD=AB +BC AD = AC AD=AB +BC +CD
Multiplication POE Combine Like Terms/Simplify CD=CD 63 =2CD

22=CD 22 =2CD



Given 7215
Prove 2= .4
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2.
3
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Th £

complementary to £3, £3 is complementary to 24

STATEMENTS REASONS
Z2 1s complementary to £3, 1. Cmc,n
Z3 15 complementary to /4
mA 2+ ms 3 =90 2. Definition of complementary angles
mlL Dt mL =9 0" 3. Defimtion of complementary angles
mL2+mLI=msI+ msd 4, Trangitioe P“’f’”’l“]

mLdzml 5, Subtraction Property of Eqguality

L2z 74 6. Detnte, 4 <o,

7 (\A/w(_{'



Given mZl = mz3

Prove mZLBA = mzZCBD

STATEMENTS

j REASONS

1.

-

ML =m_L "5

2. mZEBA = mZ2 + mZ3
3. mZLEBA = mZ2 - mZl

4. mLLEBA = wmll| +wm [ L

8. ) +ms = Sl CBD

g

MLEBD =/, CB)

E 1. Given

2. Angle Addition Postulate (Post. 1.4)

; 3. Substitution Property of Equality

i 4. Commutative Property of Addition

| 5. Angle Addition Postulate (Post.1.4)

6. Transitive Property ol Equality
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Given 7T is the midpoint of SU. S Ix T 3x + 20 )
Prove « =35
STATEMENTS REASONS

R | é ‘ /

1. Tis the midpoint of ST/ 1. Slibd
2. ST =TI/ - 2. Definition of midpoint
3. ST=TU 3. Definition of congruent seements

4. Tx = 31+ 20 | 4, gb’@)gi.lb%cm f{alﬂjlj’\—? g! Efwh%

5. Subtraction Property of Equality
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6. 1 = 5 6. D’V’S/GV; )ﬂf"b"/‘é‘/ij E?Z Z??Uq/ﬂé,/



